Algebra 1 8.2
Multiply a polynomial by a monomial
Solve equations involving the product of a monomial and a polynomial
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Example 2

Simplify 2p(—4p® + 5p) + 5(2p* + 20).

o :F{’—\/—\) \/\/\{
ap-"qp'l +3\ng—+ -S'Q’PJ + 6-20
- 8’@2 (Op -/oﬂr)oo

|
- % P?+ RACK

'"3p?—/oq

Distributive property
Combine like terms



Simplify each expression.

2A. 3(5x2 + 2x — 4) ¥lx(7x2 + 2x — 3)
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2B. 15t(10y°F° + 5y°t) +2y(yt2 + 4y?)
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Solve means x= ) 0o T I p O

=« Equations with Polynomials on Both Sides
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SolveZa(Sa—2)+3a(2a+6)+8=a(4a+3)+2a(a—4)+50.
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GuidedPractice

Solve each equation.

4A. 2x(x + 4) + 7 =|(x + 8) + 2x(x + 1) + 12
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4B. d(d +3) — d(d — 4) =9d — 16
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12. —6(11 — 2¢) = 7(—2 — 2¢)



13. £(2f + 3) + 20 = 24t — 3)






